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‘ ‘:J"‘ Points) Let X be 4 Set. We define the power set P(X)
For example, if X w (1,2}, then PX) = {0, {1).{2}, (1,2}
on P(Z) by (5\T)e R
a partial order

to be the set of al) subsets of X
Define a n-!.\t;un R

if and only if § C T, for any sets § and T in P(Z)
P[U\",- that R is
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5. (25 boints) As in the previgys problem, for any set X we de
set of all subgets of X,
Consider the s
Define g func
Te R(Y). B

efine the power get P(X) to be the
ets X = {1,2,3} and ¥ = {4,5,6}.

tion f . P(X) x P(Y) = P(x u Y) by f((S,T)) = SUT, for § € P(X) and
rove that f js g bijection.
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